Math 10 Quiz Chapter 13 and 12: ANOVA & Linear Correlation/Regression

Note: Our quiz solutions start on the third page of this document.
The first two pages discuss the alligator data (which is real data).

The alligator data is a good example of why we can’t predict for x values outside of the
range of x values in our data.

The 19 alligators in the quiz are a subsample of the sample that has 25 alligators. The 3
smallest and 3 largest alligators were removed from the original sample to create our
subsample.

For the 19 alligators in our sample between 69 and 94 inches in length, the line DOES
give a reasonable model to predict weight based on length.

However if we consider data outside that range, the linear relationship does not hold
true. A curve would be a better fit.

The next page contains a graph of a line fit to our subsample of 19 alligators’ data and
a curve fit to the entire sample of 25 alligators’ data. You can see the curve is a better
fit for the entire data set. The curve is a cubic curve (third degree). This makes sense
as weight is better related to volume than to length.

The 128 inch alligator referred to in one of the quiz questions actually weighs 366
pounds but our line would have predicted its weight as only 211 pounds. That’s why
we should not predict outside the range of the x values in our data — we have no
evidence to assume the linear relationship extends beyond our data, as it in fact does
not in this particular data set.
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Math 10 Quiz 7 Ch 12&13 Form B Winter 2019 20 points

This quiz contains twe questions, one question for analysis of variance and one question for linear
regression and correlation.

uestion 1: 8 points; Environmental Studies Level of Pollutant
The levels of a certain type of pollutant are monitored at three Location | Location | Location
different monitoring sites: Location A, Location B, Location C. A B C
Data were collected for a random sample of 6 days at each 8.3 7.4 7.2
location. 8 83 6
Perform the appropriate hypothesis test to determine if the 8.3 7.1 6.8
population average pollution levels are the same for all sites. 7.9 6.5 7.7
On the board ste, or=.05"] 74 76 8.7

“( wrote : 8.1 7.5 7
For this sample data: X= 7467 X,=8.1 x,=74 X-=6.9

Null Hypothesis; Thqug)o\o:hon Mean polluhon levels ot

o\l 3 {ocahon val (MA ~Me=Uc)

Alternate Hypothesis: _pﬂ.L DODO\OJhOA NCO-V\ pO“U"ﬂCV) levels ot
Sowue. (or ot ast one) \ocahons are dE@rent.

Test Statistic=__ [ (™} pvalue= 0000

What probability distribution is used to find p-value? (Include degrees of freedom): T: .15

Draw the graph for this hypothesis test — label the test statistic on the graph — shade and label the p-value.

| PNalue L«
pualoe 006k .05
/ =. 000l
=
T 2,19
© fts{-:ioa\‘ 4

Decision: RCE{, eot HO

At a. 5% (evel of Stamﬁccmce. we_ ean
conclude thot e oqnuio;hon Mean potlotion
levels ot some. (or ot laout-one) of Hese,
locatons gre Affesent Gon each otther

Conclusion:

Nete. !f we had aomputey oorpot e ancllyze $e
dx@Ce);ncu \gdwem o means we'd find le@g
feans J,(A)/Mc oore. A lenant /UA * M.



KEN Form B8 Pink.
Question 2: 12 points: Environmental Studies

. Biologists need to be able to estimate the weight of alligators in the wild, but welghmg an alligatoris a
difficult and hazardous task. Length can be estimated from a photograph which is much safer than trying to

- weigh an alligator.
So biologists would like 2 model that would allow them to estimate the weight of an alligator in the wild if

they know its length. A regression line can be used to model the relationship between length and weight.

The data show lengths (in inches) and weights (in pounds) of a sample of 19 randomly selected alligators
that were measured and weighed.

The calculator output is given to you. Use itl! (Do not put the data into your calculator.).

X=Length |04 | 72 | 72| 74|74 |86 | 86| 86| 94| 60| 85| 82 88| 90|89 | 68 76 | 90 |78
Y=Weight 130 | 38 | 61 | 54 | 51 |80 | 90| 83 (110 | 36| 84| 80| 70 [106 | 84 | 39 | 42 | 102 [57

a. [ 3 points] Find the correlation coefficient and write out the complete hypothesis test Y=a+bx
to determine whether it is significant. . B0 and p£0
Ho: p=0 Ha:p#0 Concloson: | 52
0: =0 | Gorrelahon | pesassEs
= df=17
r=.9% Coeffrcuent | - 1ess
pNoloe L o Is + | b=297
.00000000% 4 .05 Rejeet Ho significant” | o927
b. [ 1 point] Prediction: Show work; round to values to 1 decimal place r'=0.865
For an alligator that is 72 inches long, what is the weight predicted by the line? r=0.93

\7 = —-[6%.%8 *‘3-9"7(79‘)= ‘{5.0‘-{ 2 450 mLJ(dS

¢. [ 2 points] Interpretation of Coefficient of Determination: Write a sentence in the context of this
situation that interprets (explains) what the Coefficient of Determination tells us for this problem, and use
its value in your interpretation. Round fo values fo 1 decimal place as a percent (3 places in decimal form)

R0.5% of the vanation n_weight can be. explained
bq the Vorjothion n lcncﬁ‘% _

d. [ 2 poinis] Interpretation of Slope: Write a sentence in the context of this situation that interprets
(explains) what the slope of the best fit line tells us, and use its value in your mterpretatwn

For every 1L tnah moease In {enq‘Hh cwn adli qu‘
coe.zam‘- Sincreases bq .97 Doonds on_average..

e. [3 pomts] “Error Analysis”: For a length of 89 inches:Find the residual (or “error”) y — -y
Show work ; round to values to 1 decimal place

A [y-$=34-955= —11.3]
¥=-16%.8 +2.97(39) =955 |Y-Y=84-955=-I1.5

Is the observed data value above or below the best fit line? E)QJOUJ
Does the value predicted by the line overestimate or underestimate the observed (actual empirical) data value?

Ovesresthwiate

f. [ 1 point] Prediction: Suppose that you were asked to use the line to predict weight for an alligator that is
128 inches in length. What should be your response?

We_ shoold not vse_the_line to predict e weth+ of
a_ (3R inch o.l\\qoi-or The_ lenath of 128 1ndnes s nat

“l’e’\e.ro.noc_ of wvaluwes L\e_nq‘H%s\ n the date
T——bo% \oe_h.oecn MMM O & HG..X\HUM X valoes, m‘rﬂ»e,dob)




